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woA it (1) T fii #% (M) THEBIA M (1)
WBHIRRFEHH 123,398,000 112,180,000 (A) 11,218,000
AL U G | 126,219,500 114,745,000 (B) 11,474,500
B IES Dk 119,240,000 108,400,000 (C) 10,840,000
P A S SRl 121,965,800 (F) 110,878,000 (D) 11,087,800 (E)
HERE 2,725,800 2,478,000 247,800
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I| #ET=E X 39,891,324 = 41,948,424 2,057,100 HE%E
| EXHTHE =X 7,873,574 Y 7,873,574 0
ID| B 5 = 35,533,017 = 35,533,017 0
[ERZENE X g 83,297,915 85,355,015 2,057,100 HE%H
SR
1| @k X 3,005,461 = 3,065,656 60,195 HE%E
| BUGEIRE X 12,830,842 = 13,007,759 176,917 |HE%H
| —ieis g = 13,046,062 = 13,317,552 271,490 |HE%HE
It 28,882,365 29,390,967 508,602 HE%H
&t 112,180,280 114,745,982 2,565,702 HA%E
TS SREES A= UE e 112,180,000 114,745,000 2,565,000 BI%HE
T Bl S H 4 %A 11,218,000 11,474,500 256,500 HE%4HE
WA (ILEE) 123,398,000 126,219,500 2,821,500 HY%HE




2 B BEDFRMEIREER L LBETSE No. 2

RETEEAT RETERER .
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Al [P ER BT AL T 1 = 20,762,230 1 =X 20,762,230 0
A2 |HRACH R BB AL S5 T 1 =% 19,129,094 1 = 21,186,194 2,057,100 |Ha%H

At 39,891,324 41,948,424 2,057,100 HE%H
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RETEEA] HREAEER e
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# H w2 B B B &8 g HE M om | ZOEBE RE
A 1 |{BIR R
1 [EE G T 1 = 634,155 1 = 634,155 0
2 |BE%KETHE 1 K 3,955,165 1] =X 3,955,165 0
3 |NERETE 1 = 6,968,487 1 = 6,968,487 0
4 |[EEKETHE 1 X 154,591 1 XK 154,591 0
5 |2=yb R O T8 1 = 6,865,160 1 =® 6,865,160 0
6 |HiE- st 1 K 2,184,672 1 =X 2,184,672 0
&t 20,762,230 20,762,230 0
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ERETZE EAl RETEER et
# H w2 T I &8 g HE M om | EOERE RE
A 2 (81t P EH
1 [EE G T 1 = 886,775 1 = 886,775 0
2 |BE%KETHE 1 K 3,213,925 1 =X 3,213,925 0
3 [NEUELE 1 K 7,518,370 1 = 7,518,370 0
4 |[EEKETHE 1 X 177,174 1 XK 177,174 0
5 |2=yb R O T8 1 = 4,336,800 1 =® 4,336,800 0
6 |HiE- st 1 K 2,996,050 1 =X 5,053,150 2,057,100 |HE%H
&3 19,129,094 21,186,194 2,057,100 |Ha%H




